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Yl. am below to solve for x and y if the figure is a parallelogr m.
- ) l - b — ) ] N.
PT=2xQl=y+12 b) PT=y, TR =4y-15,
- R=x+2TS=7y QT=x+6,18=4x-6

st S g Y= el HyAS =Y HX~b= X+

' Ly =12 By =S 3x=_\1\

| : 2 '].' ~ 1 ~ Y: |
2] =l - PR

2. Find the measure of each angle if the figure is a rhombus. |

."
Q)

1

| a) Find the ms1. b) Find the m«2.
: 550 :)3 ‘jo

c) Find the ms3. d) Find the m«4. /
560 (..3\ ‘L‘ -

3. Solve for x if the figure is a rhombus. 4. Solve for x if the figure is a rectangle.

-~

5% - o 2N ¢ ‘* v %{ ‘_3 - L{“\"? :
Ry — Q 1y N = W0 .
| (GX v - X = - L‘¥ = % -
' | X=12 A K= B

- 5. What is the length of LN if the figure is a 6. Solve for the missing angle measures if the figure

- _ rectangle? s a rhombus. V T -
- \x-1=2xe D 0 %= %97 | ‘ >, .. :

MO = 2Ix + 13
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rrevs. Ayﬁ"tt:: _s‘_ “A
~ (Atmost 6 steps! You may not need all 6!11)

Statements

I Omecd
2 A /DL, BAd # &0 ) Def. of 2
3

4 ¥DACL = FBA 4 P\E nk 23 T
g X ACL = 3CRB g V. W 35
o

Proof #2:

Given: £/ GHIJ_
HP = JQ

Prove: PX = QX

Statements | Reasons -

g

] JOGH, HF = J I Swen
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